L’ENSEIGNEMENT PRIMAIRE

Where is the taller of the two boys ? He is standing quite close to
the dog’s head.

The smaller of the two boys is where ? He is standing between the
fence and the cart.

What has he in his right-hand ? He has a whip and one of the reins
in his right hand.

In his other hand what has he ? In his other hand he has the other
rein.

Is he holding the reins tight or loose ? He is holding them loose.

He is looking in what direction ? He is looking straight ahead.

How comes it that it is the smaller of the two boys who is holding
the reins ? I don’t know, but I suppose the bigger boy allows the smaller
one to hold the reins till they start.

What has the bigger boy on his feet and on his legs from his knees
down ? He has nothing on his feet neither has he anything on his legs
from his knees down ; he is bare-footed and he is bare-legged from his
knees, down.

In the second picture what do you see ? I see the same children,
the same dog, the same cart in the second picture as in the first.

Then the second picture is exactly the same as the first ? No, it is
not exactly the same as the first, there is a difference.

In what does the difference consist ? The difference consists in the
fact : 1, that while in the first picture, the children are standing on the
ground, in the second they are sitting in the cart ; 2, the bigger boy is
now holding the reins and driving ; 3, the dog, which in the first picture,
was quietly standing is now drawing the heavily laden cart ; 4, cart, dog
and children are no longer in the vicinity of the house with the fence
which has disappeared and another house is visible in the distance,

What are the children doing ? They are riding in the cart and seem to
be enjoying it.

Has the cart any springs ? No it is a springless cart.

Are springless carts comfortable vehicles ? They are not comforta-
ble for grown ups but children dont mind such trifles.

Why do grown ups object to springless carts while children don't
mind them ? I don’t know, but as you refuse to accept such an answer
I had better suppose, imagine, or guess some reason for it. You are
quite right, just suppose some reason for it. Well T imagine that the
difference is due to the fact that children’s limbs and muscles are softer,
more pliable and elastic, while the limbs of grown up people are harder,
stiffer and less elastic. You are quite right ; dv you know that you are
getting clever at supposing and answering ? Thank you very much, sir.

Does the dog enjoy his new occupation ? I can’t answer that ques-
tion, but he is not kicking.

Kicking, just what do you mean when you say he is not kicking

G0 e O 0 M m e e




